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CONCEPTS BASIC INTERMEDIATE ADVANCED
Vocabulary 1-7
Finding slope from two points 8-10
Finding slope from a graph =13
Describing Slope 14 - 16

Fill in the blank with vocabulary from section 3.3.
1. The measure of the steepness or tilt of a line is called S ’DPC
2. If an equation is written in the form y = mx + b, the value of the letter M is the value of the slope of the
graph.
The slope of a horizontal line is o 1
The slope of a vertical line is undehnod .
If the graph of a line moves upward from left to right, the line has a 005'717 e slope.

If the graph of a line moves downward from left to right, the line has a HM ahwé slope.
change in

oL AW

7 Given two points of a line, slope = :
change in

Find the slope of the line that passes through the given points. Show your work for full credit.

8. (-1,5)&(6,-2) 9. (-4,3)&(-4,5) 10. (-2,8) & (1, 6)
: _—
yh= — ‘ \Al’\de'FW\f.ﬁi 5 3 =m

Find the slope of each line.
1Bl

State whether the slope of the line is positive negative, zero, or undefined.

14. A 15. A 16. A AM M{Rn (‘A




Find the slope of each line.
17xé-t 18.y=-4 19.x=-3 20.y=0
nod M= wdeed M=o

Find the slope of the line. Show your work for full credit.

21.y=5x—2 22.2x+y=7 23.-3x—4y=6 24.24x -3y =57
= =2x+77
M=5 3 --2 M:E
me -2

Find the slope of the line that is (a) parallel and (b) perpendicular to the line through each pair of points. Show your
work for full credit.

25.(-3,-3)&(0,0) 26.(6,-2) & (1, 4) 27.(6,-1) & (-4, -10)
/@) 7 @y /1 ()=

)= 1 (b)2 LG ==g

Determine whether each pair of lines is parallel, perpendicular, or neither. Show your work for full credit.

y=:x+3 5y+1 6+4x =3
el ggr W= A

y=—2x —12x+ 10y =1 "3x+4y =28

hetther / sl

M= & =

The grade of a road is its slope written as a percent. Find the grade of each road shown.
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